D Find @ daxs  Aor OE(Rz, 23)) +he s\,q_ug
o{e eino.o.r ‘|'an5.5-0:/»10.1‘-'0«1$ S—rom Q to Q}

Z,)(e-( V aad W be fuwo yector SQeces.

QQC_QQQ j.C\/ /\U) s +he set C.on'l"i.io.'ng

ol @ onear transjormations  Srom V o W
let THo VeV qad ‘S=‘{4 ZV"7WI4(\/)=oj
Peowe that S is o sdspaa of L (V,w)

38 dim V=0 and dmW3am  wat is dim(s) ?

3) IS T hZaL(Q') -7 ?z[?.) ele.j—mo.d b*é
(°- b ) = Q2+ (Cd)x®

fawrti ble 7 Iﬁ- So Fiad  its s T-',
’Hno.‘\’ 15 \f\é Q. fsocmo?g_

: ) (73)

(_‘) T Nzxz > Yhae defined by
(be c:il) iavectibla? Tf S lad

its inverse T : fhet is 50:! A ’}"M'NQ&

(e n)=( )



5) F ind "Hm. e.ﬂu-o.{"ion (m +he x Y ?Qo.oo.>
‘5 Ho cuve § OV &Qt‘ }’a ('O'h"h"('f the
pq.-q_boeg 3:xz Counterclockuise 8  an
Q,ns('.v. vg T/¢  ced.

\ -
cd

I\

6) Giw en erﬂv:g& °<§ o Pinea
Trensyocrametica T V>V
Thet is Qna to o2 by+ pof ML?(‘%[L'@‘L .

}) Give an Q%QM{'»QL og a Qneor trnsdovme fion

—

[ V—2Y et s oato bo¥* net N\\Q("}l"ﬂQ,

8) B=71,% %% and 8, foxx 3,
are. Twa baes 3—0«' P.(R). Find the metrics I@?z,
03 clw.nsg og bedis  Aroms B; 4o Bz ool IBB'
L
og Change oS basis  Svom B, 1o B,



